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All questions are compuisorv
Figurcs to the right indicate lull rnarks.

illustrations, in-tiepth answers ,;.nd diagrairrs will be appreciated

Mixing of sub-questions is not allowed,
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15(a) Erplain the concep tiivision muitip lcxing (FDlvI)
Assurne that a vo annel occu',ries a bandrvidth of'400H2. Wt need to

multip lex 10 v channels with guard bands ot'10M2. using FDM. Calculaic
the requ ired

ecLriques to sprcad thc" (b) What is spectrum techniqii,',? [,ist the trvo t

b :n,Jrvl &h'. C i r,' e l...i'o advantages o l'' sri'ea d sp ectrurn techn i quc.

vlq) Dra.u.,hb cxplain the structure oir:oaxialcabie.
t+.i) \$3\.-rny thrce aclvantages anri nvr, disadvantalics of optical flbrc cable.

(c t $hat is circuit srvitched nenvork? li,xpiain the ser:r:p, data transftr and re ar dor,r.,n
t>-

ca( pnascs of circuit s'.vitching.

rRD \\hat is digital subscriber line (DSli. )? Give the characteristics of ADSI, and
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intcrl ace .

intcrtace.

r.vith each liamc

I . Attempt the following (any three)
*ia) Writc a short note on Bus topologry?
(b) Dcfine protocol? Explain the key elenienis of prrtlt6c.ol?

.l-c) Name the layer of the OSI rnodel responsible f<lr thc fbl
(i) l,ayer cornmunicators diiectly with usr:r s appii prograir)
(ii) Layer defines me chanical, e Iectrical and functi
(iii) Layer defines mechanical, electrical and
(iv) Reliable process -to-proocss rnessage

(") I.ayer establishes, manares and SESSI ONS.

. , Jl li),r+'.*^ -o*',r.-i,.1--^.,-L..,,rl/as, rrvr.rrv ri!!rrL,rl- !rL JJiir.lju!,

A network can pass only 1200

carrying 10000 bits,
Clalculate the throughput of this

(d) f)rar.v the graph for data

Line coding scherres.

(e) Explain Binary arnplitude shift ASK) in dctail,

ln bits,i scc'l

1001 I using NRZ, NRZ,-L and NRZ-I

fi-ames
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5. Attempt the fbllowing (anY three
:haracteristics of Data Corununication?(a) What are the lbur

Write short note

State and exP fferent types of persistent rnethods in CSMA

What are the stics thrit can be used to group statlons ln a VI,AN?

E,xplain
!'!:L-+:-
YY rlclL rJ,

e functions of clata linl< 1a5'er of t)SI model'

nd lio'r,, rlce . it runcrion?
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fr I{ow data flow is controlled using stop and

the following (anY thrce)
aocess mechanism'

@) Explain token Passing mediurn

What are goals of fast ethernet?

protocol,

wailprotocol?

lern in lvireless the solution for the
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device operates, Give one

(iii) GatewaY

sr.vitch.
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\Ql(ii i) ftedundancY
distance is used for error(c) What is Flammrng distance? l{ow I{ammtng

and error oorrection? Calculate the Hamming ciistance fbr d( 00000. 01

(d) I)escribe the frame structure of Point-to-point Protocol (I'PP)'

l.ist the fi.elds of controi-fiaine ol llDLC Write one use of fie ld.
(

(b)

r5

P) Describe the hidden station Prob

hidden station Problem.

P
(e)

handoff.

(f) State the

reason to

layer/iayers at which

support Your
(i) I{epeater
(iv) l{outer
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